Year 5/6
Maths
W/C 1st June



Dae Monday Tt June
Subject/s Maths
Learning Objective
To recall and use multiplication facts
1x4= 3x11= 10x7 =
4%5= 10x 2 = 9x5=
10 x 06 = 3Ix2= 2x10 =
2 x5 = 7 x3= 10 x 9 =
7x4= 4x3= 9x 10 =
1x6= I x7 = 12 x6 =
3x 7= 3x12 = 7 x9=
5x1= 2x9= 6 x10 =

11 x4 = 11 x6= 4x2=



Date 01.06.20

Subject/s Maths

Leaurning Objective

— To find ratio
SA TA
Success Criterio I know ratio compares two or more objects that increase together |
______ or J——
vIE Imwr&er;lmtﬁrrys,
I can link ratios to fractions
Support Independent Adult Support ( ) Group Work

Pre-task:

Complete the sentences.
O O O OO0 O

For every two blue flowers there are ____ pink flowers.
For every blue flower there are pink flowers.




Teacher Led,
What is ratio? https://www.schoolsofkingedwardvi.co.uk/ks2 -maths-year-6-6a-ratio-
proportions-ratio/

To work out the ratic—

X X X XN N
Theratioof @) to @) is

How many tomatoes? 4
How many onions? 3
So we write the ratio 4:3

X X X XN N
Theratioof @) to ‘ is 4:3



https://www.schoolsofkingedwardvi.co.uk/ks2-maths-year-6-6a-ratio-proportions-ratio/
https://www.schoolsofkingedwardvi.co.uk/ks2-maths-year-6-6a-ratio-proportions-ratio/

TR0

The ratio of




Fluency —

a. What is the ratio of grey to
white?

b. What is the ratio of triangles
to circles?

/AN O O
O A

c. What is the ratio of ducks to
frogs?
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d. What is the ratio of apples
to carrots?
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e. What is the ratio of A to B?

{7

f. What is the ratio of mugs to
spoons?

e — .‘\_ H‘".

W T T'

Colour the counters so that they are in the correct rutio

Blue : Red. =2 : 1

O 0O

Red : Green=1:3

OO0

Yellow : Blue =1: 2

000000

Blue : Green=2: 3

OO000O

Red : Yellow =3 : 2

OOO0O0O0OOO00OO

Blue : Red. = 4 : 1

OO00O00000 0O

Green : Red = 3 : 1

OO0OO00O0O00O0




Date 2.06.20

Subject/s Maths
Cearning Objecive

ot andusemltpliaton and dhasionfoes
2x5=__ 8x12=__ 1x10=__
Ix11=__ 10x8=__ 4x1=__
6x8=__ 7x5=__ Mx9=__
O9x7=__ 7Tx7=__ 9x8=_
3x3=__ 7Tx4=__ Ix7=__
2x7=__ 7Tx2=__ 9x7=__
9x2=__ 8x10=__ 3x8=__
6x7=_ 7x10=__ ox6=__
7x9=__ 5x3=__ 5x9=__
12x4=__ 4x8=__ Mx3=__
4x2=__ 4x9=__ 10%x3=__
Mx2=_ 4x4= 2x6=__

9 x 10 = 10 x4 = 2x8=




Date 02.06.20

Subject/s Maths

Learning Objective

Tor simplify roti
SA TA
Success Criterio I know ratio compares two or more objects that increase together
\/! I know simplifying ratio doesn't change the amount
I can link ratios to fractions
Support Independent Adult Support ( ) Group Work

Pre-task:

Complete the sentences to compare the apples and oranges.
- i i r’*‘i‘t :P @
iﬁii 2000
00000

For every 6 apples there are ... oranges.

— of the fruit are apples, = of the fruit are oranges.

O O




Squared paper and a multiplication grid to help you, try to use the squared paper more than the
iplication grid.

The multiplication grid is only for support if yow REALLY need, it.

XxX11(2|3|4|5|6 7|89 (101112
111123 |4|5|6|7 8|9 (101112
212 (4|68 |10(12|14|16(18 |20 | 22|24
313|169 ]12|15|18|21(24|27 303336
414 (8 |12|16(20(24 |28 |32(36 |40 |44 |48
5|1 5(|10|15]|20|25|30|35|40|45 |50 | 55|60
6|6 |12(18 2430|3642 48|54 |60 | 66|72
717 1142128354249 (56|63 |70 |77 |84
8 | 8116243214048 |56 (64|72 |80 | 88|96
919 (18|27 |36(45(54 |63 |72|81|90]|99 (108
10(10(20|30|40|50|60|70|80 (90 |100{110(120
11111 (22|33 44 |55(66|77|88|99 [110|121|132
1211224 |36 |48 |60 (72|84 |96 (108(120(132(144







Teacher Led

What is ratio? https://www.schoolsofkingedwardvi.co.uk/ks2 -maths-yewr-6-6a-ratio-

proportions-ratio/

Example video of simplifying ratios: https://www.youtube.com/wutch?v=chjQWf41108 ,

https://www.bhc.co.uk/bitesize/topics/zsq7hyc/ articles/z8kfnhk,

If I have o ratio of 6 hoys to every 8 girls, it could he written like 6:8. But I could simplify it
further by dividing hoth sides by 2 (like fractions!). This will give me the ratio 3:4. The ratio

has not changed. It has just heen simplified.

Simplifying a ratio ?

&

Ratios can be simplified like fractions by dividing each

part by the same highest num
0..

Highest
Common
Factor

. 3
Fraction : 9 = Z
8 4
6:8
Ratio : - 2( )-:- 2
3:4
Yowr twm;

jzm,ol}@ Mﬁ”ﬁmﬁ rochos

|6t 20

@@

Youw must show yowr working out like the ones ahovel

ug 30

A1l Simplify the ratio 4: 8 A2 Simplify the ratio 2:10

A3 Simplify the ratio 10:15

A4 Simplify the ratio 9:15

B1 Simplify the ratio 14:7 B2 Simplify the ratio 12:3

B3 Simplify the ratio 20:8

B4 Simplify the ratio 20:15



https://www.schoolsofkingedwardvi.co.uk/ks2-maths-year-6-6a-ratio-proportions-ratio/
https://www.schoolsofkingedwardvi.co.uk/ks2-maths-year-6-6a-ratio-proportions-ratio/
https://www.youtube.com/watch?v=cbjQWf411O8
https://www.bbc.co.uk/bitesize/topics/zsq7hyc/articles/z8kfnbk

Fluency

2:10

6:18

15:3

9:27

30:18

30:6

145 : 36

35:15

49 :

45

63 :

70 :

36 :

80:

28

140

36

60

81

8



Problem Solving and Reasoning

> Rearrange the same number of cubes as there are in the
O@ diagram to help you complete the sentences.

Forevery ___ @ there are ___,_,‘
For every 8 w there are ___‘
For every 1 ‘ , there are ___a

Prove it!
True or False?

o 90009
O BB D

*  For every red cube there are 8 blue
cubes.

* For every 4 blue cubes there is 1 red
cube.

*  For every 3 red cubes there would be .
12 blue cubes.




Date 3.06.20

Subject/s Maths

Leaurning Objective

To recall and use division facts

4)16 3)30 5)45 3)15 9)18

8)24 9)36 9)54 10)20 2)4

6)48 4)36 5)35 7)42 7)28

4)40 3)27 8)80 10)40 7)63

2)12 8)32 3)9 10)100 2)18



Date 03.06.20
Subject/s Maths
Learning Objective
__ To write rutio
SA TA
Success Criterio I can identify the parts in the word problem l
I can identify/work out the whole
\/! I can write the ratio as part: part = whole
Support Independent Adult Support ( ) Group Work
Pre-task:

Emily has a packet of sweets. For every 3 red sweets there are 5 purple sweets. Write this as a

ratio. How many sweets does Emily have altogether?




Teacher Led

Q00 AAAA . .
©00AAAA ghgsit;emtmoj
Q00 AAAA

0 0AAAA

@00 AAAA

It could he written as:
Circles: Triangles = Total
15: 20 = 35
Lets simply the ratic
Circles: Triangles
15:20
+5 +5

3:4
The simplified, ratio of circles: triangles is 3:4

You need to write headings for the ratios (not just the numhers!) so yow know what the ratios
represent!

Youwr tw

1.

2.




Ratios can look like word problems too

Sam has new pencils, 5 of them are blue and 15 of them are red. What is the ratio of blue to red pen-
cils? Then write it in its simplest form.

Blue: Red
5:30

Simplified.

5:15
+ 5 + 5

1:3

Your twrn:
1. There are some fish in a fish tank, 12 are hig and 32 are small, what is the ratio? Then simplify it.

2. A pattern has 4 blue triangles to every 12 yellow triangles. What is the ratio of blue triangles to all
triangles?



Fluency

—

s woN

A class has 8 hoys and 24 girls. What is the ratio of girls to boys?
Ben has 5 yellow cars and 15 black cars. What is the ratio of yellow cars to black cars?

Sam is growing flowers, she has planted 9 pwrple and 18 pink. What is the ratio of purple to pink
flowers?

Ash has 8 oranges and 16 apples. What is the ratio of oranges to apples?

Jack bought 9 foothalls and 27 tennis bhalls, what is the ratio?

Parked on the roaud are 30 black cars and 18 silver cars, what is the ratio?

At dinnertime 30 children had pizza and 6 had cheese rolls, what wus the ratio ?

The ice cream man sold 45 chocolate ice creams and 36 strowherry, what was the ratio?

Kevin buys 64 new pencils, 24 of them are broken, what is the ratio?

There are 49 children ordered chicken for dinner and 63 ordered pasta, what wus the ratio of chil-
dren ordering chicken to pizza?

Sofia makes a drink for every 6ml of orange yow need 60ml of lemonade, what is the ratio of or=
ange to lemonade to make the drink?

A shop sells 49 bags of apples and 70 bags of chips, what is the ratio of apples to chips sold at
the shop?




Extra word problems for practice

In the zoo there are | In a class there are  |A racing school has two|A theme park has four

five giraffes for every  [three girls for every Ferraris for every three |roller cousters for every

two rhinos. Write this [two boys. Write this as|Lamhorghinis. Write the [three other types of

as o ratio o rotio ratio of Ferrari to Lam-  |ride. Write the ratio of
horghinis. couster’s to other rides.

There are 45 girls and [In a tin of beans and  [Money taken at a school|/A game of fortnite has
30 boys. Write inits  |sausages there are 8  (fair is in coins and, 45 wins to 150 games.
simplest form the ratio |sausages to 240 notes. There are 550  |Write the ratio of wins
of boys to girls. heans. Write in its sim- |coins and 150 notes.  [to games in its sim~
plest form sausages to (Write the ratio of coins |plest form
heans. to notes in its simplest
form

There are 6 eggs in
each egg hox. Write, in
its simplest form, how
many eqgs there are to
egg hoxes if youw have
72 eqgs.

A student has heen col-
lecting coins. He has
20 50p’s and, 25 £1.
Write in its simplest
form the value of 50p
to £1

A cake takes 360q of
flour, the same amount
of sugar, the same
amount of butter, and 6
eggs. Write this ratio in

A train takes 1 and a
half hours to do a jour-
ney, where as the bus
takes three times this
amount. Write the ratio
of train time to bus
times in minutes, as a




Problem Solving and Reasoning

Use it!
9,7
Complete:
The ratio of red counters to blue counters is |
The ratio of blue counters to red counters is .
Explain it Which is the odd one out?

Explain your answer.




Date 0%.06.20

Subject/s Maths
Ceaming Objective

To recall and, use multiplication. and, division. facts
L x A= Ix3= 4 x 4 = 11 x 10 =
Ixh = 6 x 8 = 7 xh = 10 x 2 =
4 x 6= 12 x § = 8 x 12 = Jx 12 =
7T x4 = 8 x 6= 10 x 11 = 4 x 9 =
10 x 10 = 10 x 12 = 4 x 2 = hx 7 =
9x 3 = 11 x2= 10 x 3 = 9 x 8=
Tx2= I x9 = 6 x 8 = 10x7 =
11 x 3 = 4 x 11 = 12 x 10 = 7T x8=
10x5= 2LxbH= 2 x 11 = 4 x 3 =
2L x4 = 6 x 10 = 8 x 3 = 12 x 4 =
Hx 6= 10x9 = 3 x 4= hx 8=
7 x 10 = 2L x 12 = 4 xH = g x 8=
9 x 2 = hx 3= 7 x8 = 12 x 2 =
Jx 11 = 9 x 4= 8 x 10 = hx 4 =
10x4= Hxh = 2x 8= 9 x5 =
8 xh= 8 x8= 8x0= g x 11 =
9x8 = 9 x 10 = 4 x 12 = 2 x 10 =
4 x 10 = hx 2= 12 x 8 = 4 x 7 =
I x 2= 6x 3= 3 x 6= 11 x5 =
T x3= 6 x4 = B x 10 = 2x 3=
4 x 8= hx 11 = 8x 2= 8 x 9=
Hhx 9= Lx 6= Sx T = 8 x 4 =
12 x 8 = J x 10 = 11 x 4 = 11 x 8 =
2Lx9 = Lx Tl = B x 12 = 12 x 3 =

10 x8 = I x 8= O x4 = 8 x7 =




Date 04.06.20

Subject/s Maths

Learning Objective
_ To calculate with ratios
SA TA

Success Criteria I can write the ratio as part: part = whole

‘/' I can use my knowledge of multiples

I know that what happens to one “"part’ must happen to the other
Support Independent Adult Support ( ) Group Work

Pre-task:

A farmer plants 20 crops in the field. He plants 5 potatoes. How many courrots

does he plant? Write it as a ratio.




Teacher Led

There are 5 girls for every 6 boys at the swimming pool There are 18 boys at the poot. How many girls
are there ?

Girls: Boys
5:6
I then know what there are actually 18 hoys, so I line this up undemeath the hoys column.

Girls : Boys
DUWW How many 6’s in 18? 3
15: 18

For every five adults on the bus there are 2 children. There are 18 children on the bus. How many adults
are there?

Adults : Children
5:2
There are 18 children so I can line this up and work out what it has heen multiplied by

Adults : Children
DUUM’/W‘ \ How many 2s in 18? 9
on this side
45:18

5:2
018

Yowr twrn—use the same method

In a bag of sweets there are 3 green ones for every 2 red ones. There are 12 green sweets in the bag.
How many red ones?







Fluency

10.

A math club has 27 hoy members. The rutio of boys to girls is 3 : 6 . How many girl
membhers does the math club have?

A school has 8 hoys for every 9 girls. There are 56 hoys. How many girls are there?

A pattern has 4 blue triangles to every 12 yellow triangles. There are 48 yellow triangles.
How many blue triangles are there?

A foothall club has a range of members, for every 13 under 10’s there are 2 over 15’s. If
there are 12 people over 15’s, how many under 10’s are there?

There is a bus with people on, for every 5 adults there are 2 children. There are 18 chil-
dren on the bus, how many adults are there?

There are 5 girls for every 6 hoys at the swimming pool There are 18 hoys at the pool.
How many girls are there ?

In a hox of buttons there are 6 silver ones for every 4 gold ones. There are 24 silver
buttons in the box. How many gold ones?

A ice cream man has 5 chocolate ice creams for every 3 strawherry. He has 30 chocolate,
how many strawherry does he have?

A pattern has 8 red squares for every 6 blue squares. The pattern has 48 red squares,
how many blue squares does it have?

Jess has 7 black cubes for every 9 green cubes. She has 56 black cubes, how many green
cuhes does she have?



Problem Solving and Reasoning

Prove it!
% There are some red and green cubes in a bag.
' 2
= of the cubes are red.

True or False?

For every 2 red cubes there are 5 green cubes.
For every 2 red cubes there are 3 green cubes.
* For every 3 green cubes there are 2 red cubes.
* For every 3 green cubes there are 5 red cubes.

Explais ir! Prowe it]

S,

Kristina says with @ ratio of 2 red flowers to every 5
white flowers. If she had 18 red flowers then she
would, have 45 flowers, is she right? Explain your
answer.




Date 5.6.30

Subject/s Maths

Leaurning Objective

o retenduse multpleston o
1x4=__ 3x11=__ 10%x7 =
4x5=__ 10x2=__ 9x5=_
10x6=__ 3x2=_ 2 %10 =
2x5=_ 7x3=_ 10x 9 =
7x4=_ 4x3=__ 9x10 =
1x6=__ Tx7=__ 12x 6 =
3x7=__ 3x12=__ 7x9=_
5x1= 2x9= 6x10=__

11 x4 = 11 x6= 4x2=



Date 05.06.20

Subject/s Maths

Learning Objective
__ To calculate with ratios
SA TA

Success Criteria I can write the ratio as part: part = whole

‘/' I can use my knowledge of multiples

I know that what happens to one “"part’ must happen to the other
Support Independent Adult Support ( ) Group Work

Pre-task:

The ratio of red to green marblesis 3: 7
Draw an image to represent the marbles.




Teacher Led

Jess has squares; triangles; and circles in the ratiogf 3 : 1 : 2. If 20 of Jess' shapes are circles how
many triangles and squares does Jess have?

3 : 1 : 2 How many 2's in 20? 10
x10 l x10
. . Now we need, to do the same

Squares: tringles : circles

30:10:20

Yowr tum—

A truck is carrying pear juice, cherry juice; and apple juice bottles in a ratio of 3 : 1 : 3. If there are 16
cherry juice hottles, then how many juice bottles in total are there?

Remember to write your ratios with headings so- yow know which numhber represents what.



Fluency

A truck is carrying grape juice,
hottles in a ratioof 2 : 1: 2. If
there are 20 grupe juice hottles,
juice hottles are there?

A boy has blue, red and yellow
pencils in a ratio of 3:2:2. If he
has 12 blue pencils how many
red and yellow pencils does he
have?

If there are children, teenagers
and adults on a bus at the ratio
3:5:2 and there are 15 teenagers
how many children and adults
are there on the bus?

A shop has chocolate, strawherry
and vanillo ice cream at the ratio
of 6:4:3. If there is 30 chocolate

A shop has apple juice, passion
fruit juice, and orange juice
hottles in a ratio of 4 : 1: 2. If
there are 32 orange juice bottles,
juice hottles are there?

A girl has black, red and orange
pencils in a ratio of 6:4:3. If he

has 42 black pencils how many

red and orange pencils does he

have?

In a zoo there are monkeys, fish
and penguins with o ratio of
7:6:8. If there are 64 penguins
how many monkeys and fish are
there at the zoo?

A girl has black, green and blue
pencils in a ratio of 6:8:9. If he
has 36 hlue pencils how many
black and green pencils does he
have?

A shop has mint, strawherry and,
cherry ice cream at the ratio of
8:8:9. If there is 54 cherry ice




Problem Solving and Reasoning

Use it!

Teddy has two packets of sweets.

In the first packet, for every one strawberry sweet
there are two orange sweets.

In the second packet, for every three orange sweets
there are two strawberry sweets.

Each packet contains |5 sweets in total.

Which packet has more strawberry sweets and by
how many?

Eaplain s Prove it!

Meg

Tick the correct statements.

B88CC
BEBCC

* There are two yellow tins for every three red tins.
* There are two red tins for every three yellow tins.
* The ratio of red tins to yellow tinsis 2: 3
* The ratio of yellow tins to red tinsis 2: 3

Explain which statements are incorrect and why.




The ratio of ’ to

is 2:80r1:4

FEEAROOO0

The ratio of | ﬂTh to i/

The ratio of " to X

is 4:5

is 6:30r2:1

Y. X,

The ratio of ® to D

is 3:2

a. What is the ratio of grey to
white?

O
2@ O
®@ 00

6:5

to circles?

O A

2:3

b. What is the ratio of triangles

AN O O

¢. What is the ratio of ducks to
frogs? .
T ¥

L4 % [
E‘F?ﬂﬁ?@
=

&
3::@ A
?%M Q&?‘%«}%

3:6 or 1:2

d. What is the ratio of apples
to carrots?

e. What is the ratio of A to B?

f. What is the ratio of mugs to
spoons?

A A — 0 S
. e A ornf o
\/ﬁ\l 4 B B 8 /j [_F ﬁ [_jj;‘\ [ud}r:
\M/i,\\/\ﬁfg N ( /: B A = -\ L__H_Jﬁﬁ p Q{
/|/ ™ \\;ﬁ“’g B A [“}MO J__f?) / /J _—_jﬂ\
NI B A Y L O\
4:2 7:7 or 1:1 6:8 or 3:4
Blue : Red. =2 : 1 .. .

Red : Green.=1:3

Yellow : Blue =1: 2

o] 1 )

Blue : Green=2:3

Red : Yellow =3 : 2

Blue : Red = 4 : 1

Green : Red.= 3 : 1




2.6.20

Al Simplity the ratio 4:8

1:2

A2 Simplify the ratio 2:10

1:5

A3 Simplify the ratio 10:15

2.3

A4 Simplify the ratio 9:15

3.5

B1 Simplify the ratio 14:7

B2 Simplify the ratio 12:3

B3 Simplify the ratio 20:8

B4 Simplify the ratio 20: 15

True

o5 H:1 5:2 4:3
A B C
8:-4=2":1 9:27=1:3 5:40=1:8
9:3=3:1 30:18=5:3 49:28=7:4
12:6=2"1 30:6=5:1 45:40=9:8
2:10=1:5 45:36=5:4 63:36=7:4
6:18=1:3 35:15=7:3 70:60=7:6
15:3=5:1 8:48=1:6 36:81=4:9
Problem solving and reasoning
Use it—
16:8
Prove it—
False
True



3.06.20

4 10
4 116 3 )30
3 4
8 )24 9 )36
8 9
6 )48 4 )36
10 9
4 140 3 )27
6 4
2 )12 8 )32
Yowr twm answers

Circles: squares
6:8
Simplified

3: 4

? 5 2
5 )45 3 )15 ? )18
6 2 2
9 )54 10 )20 2 )4
7 b 4
5 )35 7 )42 /)28
10 4 ?
8 )80 10 )40 7 )63
3 10 ?
3 )9 10 )100 2 )18




Yowr twmn
1. 12:32 = 3:8
2. 4:12 = 1:3

Fluency

1. 3:8
2. 79
3. 110
4, 710

Problem solving and reasoning
Use it— 4:55:4

Explain it— Because it only 1:2




Answers—4.6.20

1. Boys: Girls 3:6 27 : 54
2. Boys:Girls8:9 56: 63
3. Blue : Yellow 4 : 12 16: 48

4. Under10’s : over15’'s 13:2 78:12

5. 45:18
6. 15:18
7. 24116
8. 30:21
9. 48:36
10. 56:72

Problem soving and reasoning
Prove it + explain it

True

False

True

False

Prove it—yes hecause 2:5 = 18:45



5.4.20 answers-

Monkeys:fish:penguins
56:48:64

Black:green:blue
24:32:36

Mint: strawherry: cherry
48:48:54




